Collaborating Coupons

Act 1l

Collaborating Coupons
| went to Sports authority with two coupons.
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The shoes | wanted were on sale

Running Shoes
Originally

$99.99
Shop Now »

Act 2
What other information do you need?

e Sales tax in Union City, Ca (summer of 2013) was 9.5%
e Sports Authority allowed me to apply all three discounts

Additional information you may choose to give
e The discounts were applied individually in an order that resulted in the lowest possible cost. | don’t

give this information. Instead | ask what their group to come up with a proposal for what they would
charge for the shoes.



Act 3




Student work

The responses led to great discussion about methods, order, precision, applying the two percent discounts
(can you add them? does order matter?) and revising work.

Some groups matched the receipt ..or almost matched the recei pt
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Some groups subtracted the loyalty reward first a nd precision matters
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[ am going to buy my shoes at this group’s store. They combined the percent. They also had a great
argument about whether they could add a penny at the start and then subtract it back at the end. I
wanted to intervene and suggest they try both ways but that would have killed their discussion. The class
discussed that idea during presentations. Why is there a 13 cent difference? Precision?
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There was another order to consider and related precision. Is it possible that the 22 cent difference is due to
precision of decimals?
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